0.0 O & ¢
D'2212 5 - pN»a PR

Variables = pnanwn
DNYN DOMIX 1ININ NND

NINYN NT NN e
117 V) DMINYN W 0DMID NN e

LNIRNDANT @

‘ *
* MYDPIPDINT n770Dn
@ aj.l pg t hon r.\3\1\:r)w.automation.,ctc,a.iI *




0.0 O & ¢
D'2212 5 - pN»a PR

DMNYN D2OMX 12NN NN?

NND] DMXN YXINN DX AYN? D2NIX DNXY D27 TNIX NN DX e
0PIy DNMN NN

(D017 DN X7 2) 1N NN w2 DX DN e

.D1°XN 22 7V D12PN NX D2avnn Dn»n e

.NM2Y? X7 12 TN 2V D12DN NX D22AN) DN e

.MIY? X? 712 qTn 2V D2N121 D T'N?2NN NN NX DNAID DN e
JAYN N21ya Dy DN TN e

A ON'X YNNYN? 221Y 12 D21N1 NNY?2 1272 DNy DINYN *

~ TXDIDINT n772Dn
a}" pgthon r.\3\1\:r)w.automation.,ctc,a.iI




0.0 O & ¢
D'2212 5 - pN»a PR

DMNYN D2OMX 12NN NN?

TNYA DNN YANYN?1 11272 2212Y T2 DX21N) MMAY?2 122 DNY DN
101NN VIXA 12002 127 AT Y VTN NY? T :yTn nonr L
QIVN 2V NRXIN L2 ,WNNvn ?v DY ,2wn?
NINYNN OYA WYNNYA? IWaK ,21v1 21V 1Y 1INIX DX 21N27 Dijzna ann vy 2
NPITNN? 2721 XM JN Mzt NIX NIy DT

.D”ONNN D'21Y'NA QNYN? 0212 DINYN :DxYh yixla .3

»  fYDPIDIN7 n772Dn
ajl pgthon r.\3\1\:r)w.automation.,ctc,a.iI




0.0 O & ¢
D'2212 5 - pN»a PR

Variables = o»pva P aNnvn
DN NNY? wannv N2 012N XN NINYn e

.02V N2 MNY? 0212 1INIXRY NDAIZ2 NINYN 2V IVN? TWaN e

J121ND IX 1INYN ?YW OV 1IN ,19DN NDAa1Zd MNY? 2127 X NNNT?

33 Gal

»*

~ TXDIDINT n772Dn
a}" pgthon r.\3\1\:r)w.automation.,ctc,a.iI



0.0 O & ¢
D'2212 5 - pN»a PR

Variables = p»9oa 0naNwn

77V NPR1IMMY (NINYN)NDAIR 1PN YT 'R

33 Gal
age name

DNYN? MY DM 2NIX N7 2'ava *

* MYDPIPDINT n770Dn
ajn‘ pgthon r.\3\1\:r)w.automation.,ctc,a.iI*



0.0 O & ¢
D'2212 5 - pN»a PR

?TIP2 NINYN DTN PN

.DMDN 1V DY NNYN 1?2 DYV 1INIX1 DY DINWYN? DTN 1INIX

NINYNN 21D DX 1 TAN? X X2 N1N1al

a=3>5
[ v ) [
n:nwnnJ age = 30

name = “gal”

ra’2an)
NINYnn

»*

“ MXDPIDINT7 077D
aj.l pgthon r.\3\1\:r)w.automation.,ctc,a.iI*



0.0 O & ¢
D'2212 5 - pN»a PR

11?2 ¥ DDINWYN 1D NN - D?DDA D INYN

nnaT NINYNN 1o
age = 30 (int) 07w 1aon
salary = 33434.76 (float) 'nmwy 1aon
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age: int = 30 (int) D?w 1apn
salary: float = 33434.76 (float) 'nmwy 1aon
city: str = “Netanya” (str) DN 2w NNNN
is_male: boolean = True (bool) 1212 1Y

is_female: boolean = False
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fe variables1,
_ = NNT?

# Initialize

the age variable with the o e —— e —

@ variables1
"C:\Program Files\Python311l\python.exe"
Original age: 25

y Updated age: 30

age = 25

# Print the original value of the age vari

print("0Original age:", age)

-

s+ Process finished with exit code 0

# Change the value of the age variable

age = 30

# Print the updated value of the age variable

print("Updated age:", age)
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